
https://www.geekcert.com/jn0-633.html
2024 Latest geekcert JN0-633 PDF and VCE dumps Download

 

 

 

JN0-633Q&As

Security, Professional (JNCIP-SEC)

Pass Juniper JN0-633 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/jn0-633.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Juniper
Official Exam Center

 

 

Latest JN0-633 Dumps | JN0-633 Exam Questions | JN0-633 Braindumps                                1 / 5

https://www.geekcert.com/jn0-633.html
https://www.geekcert.com/jn0-633.html
https://www.geekcert.com/jn0-633.html


https://www.geekcert.com/jn0-633.html
2024 Latest geekcert JN0-633 PDF and VCE dumps Download

QUESTION 1

Which two statements are true about persistent NAT? (Choose two.) 

A. The permit target-host-port statement allows an external host to initiate a session to an internal host on any port,
provided the internal host previously sent a packet to the external host. 

B. The permit target-host statement allows an external host to initiate a session to an internal host on any port, provided
the internal host previously sent a packet to the external host. 

C. Port overloading must be enabled for Interface-based persistent NAT. 

D. Port overloading must be disabled for Interface-based persistent NAT. 

Correct Answer: BD 

 

QUESTION 2

You are working as a security administrator and must configure a solution to protect against distributed 

botnet attacks on your company\\'s central SRX cluster. 

How would you accomplish this goal? 

A. Configure AppTrack to inspect and drop traffic from the malicious hosts. 

B. Configure AppQoS to block the malicious hosts. 

C. Configure AppDoS to rate limit connections from the malicious hosts. 

D. Configure AppID with a custom application to block traffic from the malicious hosts. 

Correct Answer: C 

 

QUESTION 3

Click the Exhibit button. 

Referring to the exhibit, which feature allows the hosts in the Trust and DMZ zones to route to either ISP, based on
source address? 

Exhibit: 
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A. source NAT 

B. static NAT 

C. filter-based forwarding 

D. source-based routing 

Correct Answer: C 

 

QUESTION 4

Click the Exhibit button. 

Referring to the exhibit, the application firewall configuration fails to commit. What must you do to allow the configuration
to commit? 

Exhibit: 
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A. Each firewall rule set must only have one rule. 

B. A firewall rule set cannot mix dynamic applications and dynamic application groups. 

C. The action in the rules must be different than the action in the default rule. 

D. The action in the default rule must be set to deny. 

Correct Answer: C 

 

QUESTION 5

Click the Exhibit button. 

An attacker is using a nonstandard port for HTTP for reconnaissance into your network. Referring to the exhibit, which
two statements are true? (Choose two.) 

Exhibit: 
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A. The IPS engine will not detect the application due to the nonstandard port. 

B. The IPS engine will detect the application regardless of the nonstandard port. 

C. The IPS engine will perform application identification until the session is established. 

D. The IPS engine will perform application identification until it processes the first 256 bytes of the packet. 

Correct Answer: BD 
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